智浪教育—普惠英才文库

[image: image1.jpg]2010 4 pr Ll b B SE g

FEHRE. CAT XS A

(3083 ) s A U A A 28
— B (N4 NEBET 5, )5 4
HEGES 57,3660 4)

1 gn,:.,m.(‘«‘z“'t-z’
4

TR R .
2.8 n MEEM x5 , R

Sena Bt - S

BRI, %y, 2, ox, BOESRIR
3. P EALFRRAA L ABC,TURY A
(3,0).8(0,2) .C(0, -1) ,FFHT LK « =1,

2= (0<1<3) 25 A ABC AFIIHY
FBGEN (). W2 0 BALRt, S(0) BORAE
2

4 BFREH 4 LERS U6 R
B ZEPH T RARG6 RAR2 AR
B ENFRE IR, FRE R F K
BERE_ (RRMSBIEE).

S.BHF, F, BRI < =105
LM RFETURA X LR, 0 AT

IMF, | + \MF;|
B E‘—ml—*=ﬁ.m,ﬁMw'¥ﬁ
*.

6. MR
0<a, <a, <+ <a,(n32,n € N)
20 - 1 {3 BIE S
e

A A RBLEEE).

7.8 /(x) RERKETR, f(0) =11,
FEAE n AR
f(x) =f(x)

MM 1005 - 6416(2011)05 -0029 -03

W n AR .
8. 40P 1, %A ABC i, B4 AB =5, BC

=8,AC =7, 34 %
P.Q 4+ SIHEh AB,
AckAAPQly ¢
ShEEY BCHIY. B ¢
WRE PO KR "
M
M3t 60 4)
9. (14 53) W 2 E MR 3 m, K ffh
120°, 3 R ), &
TR L 3 R
K0 3 A M Y A £
WORHES) BB K (]
BRED? m2
10.(14 55) B 1,2, 0,1 000 3%
1000 MEMBHBNES A, EARE A4 F
BEUB— o R IE o BOETRA AR

RIS A RSB R0 > S

R

1L (16 44) (1) # %, %% € RRiE:

A el +82 2 (nm +0m)
FRIF SR KA 5

(2) LW o X FEETH 5%
x3 0, RER

e+ 482a(nm +xm +25,)
FRT R @ BBALH.

12.(16 59) BRIESH » R W T %
AT (0,2 009) Py 04 EBH m,
RAFEERH kW8

m k _m+l

2009 <n 2010°

SREF 0 HR/MIL





[image: image2.jpg]IS [(-5)-(-9)1}

2|22, =3 =-3u-2e 3.
112 +4x -x" 20,78 -2 <x<6. HB, =2 Bt 5(,)__:?
0S V12 +4x -2 =/ - (x-2)* +16<4
aol Bre-F -2 1 ‘G
4 27 PRI R
TR M LA [-2,6], RN podXT45x646x2 _14
15x15 =5
HPRBORRORARY | -5 =21
5. @ M(x,y) (x21). 55, ML KM
2P Ng a1 =1 g xl AN F2,0) F(2,0). W
e > IMF, =G+ ) 47,
=2 21 < 2l x \ME| = VG o
=2”5:.\s0. 1MO1 = /&4y .
=t IME,| + IMF, 1\?
Hllg x| =0(1<k<n) 5 ﬂ(»»W)
(N 4 o 2 R
ny

4 &2&2/;‘—41 41 __ 8¢

iy + g =1(0s2<3),

Lo -y =1(0x<3).

e 3, B H R y
x=t 5RE 4B AC
195 881 FLE;
R . B8, 09, LR AHOROR 20 -1
Meo g SHE o B0 P Emson G
ABAC WA [ HEXBHA L
HGHW 0 L ot
5 s Sa-@ee
7r=2=3, (1+9) =502.

Yoy -1
]

so=deg{le-3)-(5 )

tﬂs(X) =f(x) ~2010. {l x,,x;, +,x,





[image: image3.jpg]Heft,q(2) HERBMSTR. TR,
£(0) =11-2010= -1 999

=11C-x)q00).

151999 M, -1 999 EER=ATF
IR, B -1 x1 x1 999, 4 n<3.

£ B,

£(x) = (x+1) (x-1) (x+19%9),

flx) = (x+1) (x=1) (x +1 999) +2 010,

[

EXA ABC ZHKE M, BTk, A ABC
W=AMBEE

#1228 22R(R HAAPQ SHEEE) ,

% PQ=2Rsin A.

W PQ Bl HELY R B/

RENAPQ HysMEW S BC ARY), LA,
%3 BC - AH H9 /A APQ ShER IRt
R/

ki3 ¢

T AH X8 =5 xTsin 4 = AH = 2sin A.

HPQ, =AHsin A =Psin'A =2 .

9. NP8 4, S MR F Y TR P AR
KFHELSEE
SMMEETF A AB.
LIE:2 S 203 £ ]
AEWHAREK T ?
ENFREF
45.

@ BAQ = B

£ ABQ =60° -a,
2 gy -8
sina " n(60° )

X o 2R, bR BME B R LAY
B MR RA KA.

AB=AP+PB=

B RERBULI £
1

4B=6 =T

@)

1
3 [e0s(2a-60°) - con 60°]

2
26 |Fr=12,

B a=30%f,4B=12.
LK B AR R E R AR

=6

KER 12 m
10.Mk1 D

(e b)-1-p(is

<t easiboas[Ts].
Y
10007

we(g<y)=
§3k+333+333 .
1000 2000
a 1 333 _1667
#r(§>3) =1 - =
Wik2 Ya=104b=182,42 FEok:
Ma =205 WIRMEII3.4.5,42+3
ks
%a =3 0,6 SREMING 78,472 42
X3 FE

%0 =333 B, A 2 +332 x3 FRIL;
24334<a<1 000 B, b #5471 000 FPEGE.
a1
#r(§>3)
ToF

_333(2+166 x3) +667 x1 000
10007




